2.7 worksheet solutions

1la

= FIX_] = Sin[3 x] Exp[x " 3]
f'x]

our - 3 €< Cos[3 x] 13X X2 Sin[3 x]
1b
npssi= FIX_] ¢=Tan[2 x + 3] Exp[3 x]
f'x]
ourise- 2 €3* Sec[3+2x]2+3e3XTan[3 +2 x]

1c

7= FIX_] ¢=Sqrt[2 x+ 1] / Cos[2 Xx]

f'ix]
Sec[2 x]
out[138]= [7 +2 4/1+2x Sec[2x] Tan[2 X]
V1+2x
2a

n39)= Solve[D[xA2y[x]72, x] =D[x+2, x], y'[x]]

J)

1-2xy[x]?
Out[139]= {{y’[x] -
2 x%y[x]

2b
ni40p= Solve [D[SiN[Xy[x]]1, X] ==D[x+y[x], X], y'[x]]

, 1-Cos[xy[x]]y[x]
Out[140]= {{y [X] = }}
-1+xCos[xy[x]]

3

n421= D[1 /7 y[x], X]
Y’ [X]

out[142]= —

y[x]?

4a
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nfes= @ = =3
b=3
Solve[D[xA3-y[x]"3, x] =D[6xy[x], x], y'[x]]
a?-2b
m= —
2a+b?

b+m (x-a)

out[165]= — 3
out[166]= 3
x? - 2y[x]
out[167]= {{y'[x] - 7}}
2x+y[x]?
out[t68]= 1
out[169)= 6 + X
4b
nfeol= @ = 0@
b=0
Solve[D[Sin[y[x]] +y[x], x] = D[xA3+x, x], y'[x]]
1+3a?
m= —
1+ Cos[b]

b+m (x-a)
out[160]= O

out[t61]= O

out[162]= {{y'[x] - —_—

1

out[163]= —
2

X

out[164]= —
2

3 (-1+ab)
Infe]= =

3a2+2e2Pb

ouf-]- ©.23495

4a
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nt70p= a = .619061
b=1
Solve[D[3 x EXp[-Xx y[Xx]], x] = D[y[x] "2, x], y'[x]]
3(-1+ab)
m= -

3a’+2e°"b
b+m (x-a)

ouif1701= 0.619061

outi71= 1

3 (-1+xy[x])

})

out[172]= {{y [X] = - 2 Xy[x]
3x2+2e y[x]

oui73l= 0.23495

ouf174= 1 + ©0.23495 (-0.619061 + x)

ouf-]= ©.23495



